STAR
B S~

BMHEI—FK | K93096

# 3 JRB0800

HmitisEist JRB0800-01

BlE T — R Ke3oe? -
- It JRBOS80OOK

R ptia Rzt JRBOSOOK-01

gEa— K K93098

ik, . JRBOS80OOY

- EmbHaEs JRB0800Y-01
| BECHENOBY. ATHRMREETERC LA, |

DB BEOBRRICRBTRAT EE,

XTI






B

&R

ERERD TEXICONT

1. B&IEXORIE, TRREBZ JEE LS
I/)o

O & %

ORI &R

b AHE EREESRLTIEEIN,)
OGRS EREREZSRBLTIEEIN,)
O %% ERREREZSRBLTIFEIN)

X EREAGEEIEIIEG - MREFREB L OAEIC
MR DR—LTL—MIRRLTNET,

2. EEOH. 413, UTFoZ&z2RUTHD
E

B - PARE SBAENTN B
SR & D B BRG
o Tt B S EN B CEETIE

A
' BEE U7V ER

HHEERRDEHAEFRICDINT

Z DG OBEHBREOMFMBER G 11,
HEFIBYDROETY., =72L., HBEERNT
HoTH, BHREBRZICONWTIIMBR &% ek
SHTCWEELGEDHVET, o

B SOIERIICIZ LS OMHEER T
HTLUETH HRERFBBEZRTH > TH, B
G D TEREN D o 2B A IIMHB L OMERITD
WTTHES B TWEEEET,




N

BEO—-IIR—

(1)

7/

4

2,

v

JRB0O08O0OO

mn

31

13120




P

JRB0O08O0O
Syar (1)

BzxEO —)b&_—i

%

ik | KRB E H & fE% 1
1 [HL9997020400 |3 v acr—X (3% 1
2 | HL9997020500 | Sy m~ A —R (EFV) 1
3 | HL9997060200 | Fawity (FFI) I
4 | ORPOI8 OU>r P—18 I
5 | HL0030500520 | ~{ U F> 65X20 7
6 | HL9997060300 | NvF> (Rviair—2) 1
7 | BAOSI30 TR 4. 6 M8X130 7
8 | WRAOS ESYHAX M8 ' 14
9 | WSAOS NXTHx 337 M8 7
10 | NAOS Fv Rk 232 M8 7
11| BAOSOI2 TR 4. 6 M8X12 1
12 | WF081516 S—JlUwirv WF081516 i
13 | BAOSOI6- TR 4. 6 MB8X16 1
14 | WF081516 S—Jwiy WF0815186 1
15 | HL9997920000 | 754w K (JLv—"75) 1
16 | BAOSI30 TIVE 4. 6 M8X130 2
17 | WSAO8 NFYAX 309 M8 2
18 | NAOS Fyk 4 2va M8 2
19 | HL9997620200 | Ho—A GOt F—) 1
20 | DC030 CHYFAT 2Z 30 2
21 | HL9997620100 | S% oV Fx 47T 2
22 | HL9997620300 | 15—B (L v D) 2
23 | 16006 R7J>7 6006 2
24 | HL8967620000 | S v % 2
25 | HL9997660000 | NvF > (o v STH—R) 2
26 | BSP10025 I/5 SWUFRIVE 4 M10X25 8
27 | HL8987620100 | > % DU —X ' 2
28 | 16006 R7)>7 6006 2
29 | UE3005512 FA)N =)V UE30X55X12 2
30 | HL9997620500 | /iN— (FAN—I) 2
31 | DHCO055 CHIFAT 7F 55 2
32 | KRCA2007 S l¥vw7 EZ0025B0

33 | PS04020 XTVITEY 4X20 7
34 | HL9997520800 | /T wFh—2 (HAEITvF) 2
35 | UB1202207 FANT—) UE12X22X7 2
36 | KFC04040120 | A dwF— Vsl 4X4X12 2
37 | HL9997520700 | h—2 D% (U1 RZTwF) 2
38 | HL9997520900 | Z7 5w FL/N— ‘ 2
39 | WRAOS ESTHx M8 2
40 | WSAOS NEXTFHX 339 M8 7
41 | NAOS Fok 4 232 MS 2




0800 BEO—-IR-3
3




JRB08O0O BEOQ—-IR—-5

Tydary (2)

AR | R BB oW & % 1K
1 | HL9997520000 | HA KZSwFIn 1
2 | HL9997520100 | ZSvFF+ 61T 1
3 | DHCO42 CHZW AT F7F 42 2
4 | HL9997520200 |HYA RZSwFFy 17T )
5 | HL9997520600 | RFUH (U S5yFIy) )
6 | HL9997520500 | HS5—H (IFSwFTr) 2
7 | HL9997560000 [ /SwF A (S vFHN—) 2
8 | HL9997520300 | 7S FUR 2
9 | 16004 R—=IR7U>Y 6004 2
10 | HL9997560100 | /SwF>B (Z 5w FhHIN—) 2
11 | HL9997520400 | H)N— (I FvFTH) 2
12 | BPO8025 SWYFR)IV: 4. 6 M8X25 6
13 | HL9997220000 | L —F» 1
14 | HL88997220300 | HF—D (2%) 1
15 | HL8977220200 | o—F¥ 29T 1
16 | HL8977220300 | 27 F+ 15T 1
17 | HL8967220000 | 2V ¥+ 22T 1
18 | HL8967220200 | HS5—C (2%) 1
19 | HL8967220100 | by 7F+¥ 16T 1
20 | HL9997220800 | 2 ¥y 31T 1
21 | 16003 R—=NIRFUY 6003 2
22 | KRCA2807 —)EFvyw7 EZ0O03B6A0 1
23 [ DCO15 CHHZRADT 2F 15 1
24 | UE1702807 FA4N—)V UE17X28X7 1
25 | HL9997220900 | TL—FHIL & — 1
26 | WS06 NRTHE* 207 M6 3
27 | BH06030 Frv7B 10. 9 M6X30 3
28 | HL9997260000 | YL —FASSY 1
29 | WS06 NFFHE 23Y M6 4
30 | BAOGO16 AR 4. 6 M6X16 4
31 | HL8967120000 | =awUar>x 1
32 | HL8967120100 | =2 VasPrF¥vy 23T/16T 1
33 | HL4400AS1103 | A5 ARFEIYUZ AS1103 2
34 | HL8967120200 | hw7F¥ 29T 1
35 | MBI715DU RSARYULY 17X19X15 1
36 | HL8997120400 | H5—C (ZawUar>y) 1
37 | 16003 R—IRTFUTY 6003 2
38 | UE1702807 F14N—) UE17X28X7 1
39 | KRCA2807 =)k vv7 EZOO36A0 1
40 | HL8987320000 [ Nw oo n 1
41 | HL9997220100 | AS5—C (FL—F%) 2
42 | HL9997320300 | Nw ¥y 30T 1
43 | 16003 R—=IR7U>Y 6003 2
44 | KRCA2807 —)Fyv7 'EZ0036A0 2
45 | HL8977220200 | o—F+v 29T 1
46 | HL8977320000 | AAS—A ONwr %) 1
47 | HL8987720000 | > 7 &— 1
48 | HL8977720000 | > 7 & —ik—% 1
49 | HL9997720600 | RSV Y (7 —FK—%) 1
50 | HL8977720200 | R TU Y (3 T7F—FK—7%) 1
51 | HL0048109998 | oo™ Fa1w8 1
52 | WF081516 S —)T7viy WF081516 2
53 | NAOS Fvk 4 232 M8 2
54 | HL9997720200 | > 7 &—L/N— 1
55 | HL9997720300 | A K (3 T&—L/3—) 1




JRB080O BEO-IR~5
Syiary (2)




-/

. JRB080O

Tyiary (2)

BHEA—IR—-5

i

o )

R

(=]
HE

4

7

E

56

ORP014

U2y P—14




HEO-IR-5

JRB080O

EEY




JRB08O0O BEO-ILR—-5
EEY ’
EE | MR B E m & % {E%k M
1 | HL3300020000 | % —3 : 1
2 | HL3300120000 | E> ULy (2F) 1
3 | HL3300120100 [¥>UoZ (E¥1) 1
4 | BZI16130 AIE 8. 8 ¥ M16X130 2
5 |[Nz16 Fvh 8 2¥a2 M16 2
6 | HL6331530000 |E> 1> 2
7 | J6204LLU R=IRFU>Y 6204LLU 4
8 | HL6066511000 | EVURITIHF— 4
9 | ORGO45 ov>y G-—45 4
10 | HL6030201000 | PH* (¢38Xp11Xt 3. 2) 2
11 | WSAL0 NEPHZ 30y M10 2
12 | BZ10025 AV 8.8 M10X25 2
13 | HL6671140000 | 2y Ry > 8
14 | ORP036 oYY P—-36 16
15 | HL6061591000 | AP Fvrw s 12
16 | WRAl4 ESYHR M14 12
17 | WSAl4 NZRYFHR 3dY M14 14
18 | HL6066060000 | Fvk M14 10
19 | HL0060660000 | UV A=w )V 1,/4—28UNFE AHN¥ 10
20 | HL6031560000 |2 Ryy>on 4
21 | HL3300120200 | RA>&7—A 2
22 | HL7040040000 | U H* (¢36Xdp15Xt3. 2) 2
23 | NAl4 Fvyb 4 2¥a2 M14 4
24 | HL88961070 Ty¥ar CM64B3 1
25 | HL3300120300 | A7crwhk 5T )
26 | HL6030201000 | HH% (¢38Xp11Xt3. 2) 2
27 | WSA10 NEFYH* 3dY M10 2
28 | BA10020 FIVE 4. 6 M10X20 )
29 | BA10160 AV 4. 6 M10X160 1
30 | WSAI10 NFHTHE 337 M10 1
31 | NA1O Fvhk 4 232 M10 1
32 | BA12035 AV 4. 6 M12X35 4
33 | HL6501230000 | R— > BT hHFY 2
34 | WSAI2 NRYHHR 30y M12 4
35 | NA1Z Fyvh 4 M12 4
36 | HL3300120900 | HA RN (Fx ) 1
37 | BAD8016 Ak 4. 6 M8x16 4
38 | WSA08 NFHHZ 307 M8 4
39 | HL3300121000 | AN— (Fz>THA FNY) 1
40 | HL3300160100 | T4 (Fx>THAR) 1
41 | BA06012 RN 4. 6 M6X12 4
42 | NAOG Fvhk 4 232 M6 4
43 | WS06 NEXFHZ 237 M6 4
44 | HL3300120800 | L/N— (Fx o) 1
45 | HL1050000012 | ZUw>” ¢ 1237 o 1
46 | DEO12 EAFRAT 12 1
47 | HL3300120700 | Ow BB ((Fz ) 1
48 | NAOS Fvbh 4 232 M8 1
49 | HL7876410000 | U>Z#%—)l BL 8D 1
50 | NAOS Fvh 4 232 M8 1
51 | WSA08 NFTHEZ 39 M8 1
52 | NAOSL Fwhk 4 232 L M8 1
53 | HL7876410010 | Y >4 —)l BLS8DL 1
54 | NAOS Fvhk 4 232 M8 2
55 | WSA08 NEHFHRZ 3T7 M8 )




.JRB0O80O

EEY

BED—-IWR-5

10



JRB0O80O BEA—IR—5F

EEY

Mg | B E R B & % W fE%k i
o6 | HL3300120600 Vo (Fxr?) 1
o7 | DEO12 EAZ AT 12 1
58 | HL7876410010 J>7HR—)l BL8DL 1
99 | NAOSL JTvhk 4 22 L M8 1
60 [ HL3300120500 | Ow FA (Fx ) 1
61 | NAOS Fvh 4 22 M8 1
62 | HL7876410000 J>Zak—)l BL8D 1
63 | HL3300120400 | 7—A (Fx ) 1
64 | WSA0S NFRYHR 3d7Y M8 1
65 | NAOS JTyh 4 232 M8 1
66 | PS050025W ATV TEY FT)NIYU 5X25 1
67 | PS030025V ATV TEY FT)NIY 3X25 1
68 | HL3300160000 | dAZ00—5 3 00WX28LX84P 2

11




JRB0O080O.

h—

BEO—-IR—5

13123

12



JRB0S8O0O BEO~-IR-5

HI—

AR | KR E R L EES 1t
1 | HL2355700530 [ > —k 1
2 | HL3301820000 | X&¥ > K (3—F) 1
5 | HL3301820100 | 57— (3 — 1) 1
6 | BA10030 FIE 4.6 M10X30 2
7 | WrAl0 ESYHE M10 4
8 | NNFI0 75 YFA0 Fy R M10. 2
9 | WS06 NXFHZ 239 M6 4
10 | BAD6012 RIVE 4. 6 M6X12 4
11 | HL6536510000 | - RLIA I 2
12 [ WsA10 NEXFHEZ 339 M10 2
13 | NA1O Fwvh 4 2¥a M10 2
15 | HL3301120000 | AN— (Iw3>) 1
16 | BA08016- RN 4. 6 M8X16 2
17 | WsA08 INFHPHE 339 MS 2
18 | BA10016 RIVE 4. 6 M10X16 4
19 [ WSA10 NEXFHZ 337 M10 4
20 | HL0100000108 | / 7RIV I 2
21 | WsA08 INZYHF 337 M8 2
22 | HL7022200010 |UH% (622X¢p9Xt1. 6) 2
23 | HLO501161000 | FUL L=550 1
24 | HL3301120400 | AAN— (L>T) 1
25 | HL0708060700 | Ay RS>/ 1
26 | BA06025 BN 4. 6 M6%X25 2
27 | WS06 NZHFHZ 207 M6 2
28. | BA10025 RV 4.6 M10X30 2
29 | WSA10 NEZPHEZ 3d7 M10 2
30 | HL7082200000 | UH% (¢30Xp11Xt3. 2) 2
31 | HL3301120500 | 15— (Z>ITHN—IF2) 2
32 | HL3306020000 | VBT Fary 1
33 | HL6085007095 | J47%k—AZ L=30 8
34 | HL3306060300 | ZOAvE~ G26 1
35 | BA08O16 RIR 4. 6 M8X16 5
36 | WSAOS NZYHZ 307 M8 5
37 | HL3301120100 | HN— (VB Fay) 1
38 | WRAOS ESHHER M8 3
39 | WSA08 NEFTHE 337 M8 3
40 | BA08OT70 R 4. 6 M8X70 3
41 | HL3301120100 [ H/N—A (RJLF) 1
42 | WRAOS ESYHE M8 4
43 | WSAOS NRTH* 3dY M8 4
44 | BAOS016 RIh 4.6 M8X16 4
45 | HL3301820200 | A5 v/ 1
46 | NNF10 I5>F A0 F vk M10 1
47 | WRAL0 ESHHZ M10 2
48 | BA10030 AR 4.6 M10X30 1
50 | HI3306560000 | <—2% (L)N—H1 K) 1
51 | H13306560200 | =—Z (Ev o7 v 1
52 | HI1216561500 | ¥—7% (Fa—7%) 1
53 | HI3306560300 | ¥—% (FL—%F) 1
54 | H10320810002 | =—% (F—Z 1 vF) 1
55 | H10206560200 | ~—2% (S k) 1
56 | HI3306560100 | =—2% (~A>V%) 1
57 | H13306560400 | <—% (Faw-1) 1
58 | HI12000375156 | =—#& ONwFU—a—3>), 1
59 | HI10320400000 | =—2% (U =z ) 1

13




14



JRB0O08O0O
IVPy -k

Ein—»&—s

% W

HEE | R BEE & % {i§

1 | HL3301120200 | H#/)N—B (RJLR) 1

2 | WsA08 INFYH% 337 M8 2

3 | BA08O16 FIR 4. 6 M8X16 2

4 | NAOS Fwvh 4 232 M8 1

5 | Wsaos8 NERTHE 337 M8 1

6 | HL3302120900 | NV RAHIB (FAYVY) 1

7 [ HL3302121000 [ ~JVRAHIC (amV) 1

8 | WRAOS ESYHE M8 1

9 | BA08025 RV 4. 6 M8X25 1

10 | BA08O16 R 4. 6 M8X16 3

11 | WSAO8 NEXYHZ 307 M8 3

12 | HL232201100 YH% (p30Xd9Xt4. 5) 3

13 | HL3302120700 | 7—U— B (hw>¥— B —awlal) 1

14 | 16204LLU R=IARF7UY 6204LLU 2

15 | HL3302120600 | 754w B (ho>¥— B) 1

16 | HL3302120500 | >+ 7 KB (B >¥— B) 1

17 | KFC05050250 ANfI7F— VYawv) 5X5X25 2

18 | HL3302120800 | —U—C (W >&%— B awvlald) 1

19 | VLB033 VAJIVh LB33 FLo 1| &

20 | VLB035 VAR)r LB35 FL>o 1 | &

21 | KFC05050200 ANTITF— Uauv)k 5X5X20 3

22 | HL3302160000 | Z=NN—H)¥aAf>k SC16-—33A 2

23 | TRK06016K 6 FAZXY ZHRI M6X16 8

24 | NAO6 Fvbh 4 23a M6 8

25 | HL3302120000 | >+ 7k (L=/)N—8J) 1

26 | DHC47 CHZMAT 7F 47 2

27 | 16204LLU R—=IRF7Y>¥ 6204LLU 2

28 | HL3302120200 | 7S4 v hA (hovd—A) 1

29 | NAOS vk 4 232 M8 4

30 | WsA08 NZHHE 307 M8 4

31 | KFC05050200 ATITF— Yzl 5X5X20 1

32 | HL3302120100 | ¥ 7 RA  (ho>&— A) 1

33 | KFC05050250 ATITF— Yar)l 5X5X25 1

34 | HL3302120300 | '—U—A (hw>%— A) 1

35 | NAOS Fvbk 4 232 MS 1

36 | WSAO8 NRTHE 337 M8 1

37 | WRAOS EoYHR M8 1

38 | HL3302120400 | )V hAHTL A (F—U—A) 1

39 | NAO8 +vh 4 232 M8 2

40 - | WSA08 NEZFHE 337 M8 1

41 | HL7252221000 | RV > ZhurhFs 1

42 | HL6062105000 | A7V > % 1

43 | DEO12 EHZRAT 12 1

44 | HL3302121100 | F>>a>7—Ah (W2 ¥—) 1

45 | HL6066110000 | 5> 3>/—YU— 55T 1

46 | HL6066070000 | W H% (16X 7Xt 1. 6) 1

47 | WS06 NRYHZ 237 M6 1

48 | BA06014 AIE 4. 6 M6X14 1

49 | VLB041 V)L LB41 AL 1| M¥ GM301ig#Es
VLBO41 V~A)h LB41 FLoP 1| 7K 4 GH280E#E

50 | VLB042 VAL LB42 #FLo 1 | ¥U%- GASOOEERM:
YLB059 VARJr LB59 #Lo 2| MF GM301IREE:
VLB057 V~AJ)h LB57 #FL>¥ 2 | 7% 5 GH280¥EEE
VLB058 V)L LB58 AL 2 | YUR- GASOOHEER:

15




16



S

JRB08O0O BEO—IR—-5
IPY-{GE 7
s | W E R m OB & {E%k 1 =
51 | VB036 V~J)Lh B36 1| M¥ GM301#E#T
VB036 VX)L B36 1 | 7§ GH280EHEF
VB035 V)L B35 1| Yo%~ GA300#E#RE
52 | BA08030 AV 4. 6 M8X30 1| ¥o%- GA300¥E#FS
53 | WSAO8 INFFHZ 337 M8 1 ’ "
54 | HL3302220200 | H#5—B (F—U-—) 1| M% GM301iE#Rm:
HL3302221100 | #5—B (Y><—GA300) 1| ¥/3- GA300IEE:
55 | HL3302220000 | x> o> 7—1— 1
56 | HL3302220100 | HS5—A (F—U—) 1| M¥ GM301EEnE
HL3302221000 | HS5—A (¥><¥—GA300) 1 .| ¥U%- GA300HE#RRE
57 | HL7396003011 |xT><> XA+ GM301 1
HL3302260100 | T>¥> Z&K¥ GH280 1
HL3302260400 | =22 ¥>v— GA300 1
58 | HL1902260000 | Xmxw RILLIN— 1
59 | HL7006044000 | Zmw RLTA ¥ — 1| M* GM301ERS
‘ HL7276044000 | Xy RV Y — 1| 7% 5 GH280IBERN:
HL7276044000 | A0 RV Av— 1 | YUv- GA300#E#RAE
60 | HL0329060000 |-f>>abwZ7¥%14 RT60S L=160 - ]
61 | HL0322260400 | RNV AL wvF ST115AYT—-77 1
62 | HL0408062300 | F—XA wF - 1 | ¥7- GA300#E#kREE
63 | BA06016 RV 4. 6 M6X16 2
64 | WS06 NEFHRZ 207 M6 2
65 | BA08O16 RV 4. 6 M8X16 3
66 | HL6396550000 | 5> 3
67 | WSAOS NEFFHRZ 307 M8 3
68 | NAOS Fwvh 4 232 M8 3
69 | HL3302220600 | 754w bk  (AA1F A1 wF) 1| M¥ GM301¥E T
HL3302220900 | 754wk (IR XL vF) 1 | 7K 4 GH280-Y3- GA300KBE
70 | HL3308060200 | N—%ZXA (A1+ GM301) 1 | M¥ GM30138EmS
HL3308060300 | /N—X%ZAB (¥®R%¥ GH280) 1| 7K % GH280-¥»<- GA300LEE
71 | HL3302260000 | N—%AA (F—ZAA1vF) 1| M¥ GM3013E s
' HL3302260200 | N—%AB (F—Z1vF) 1 | 75§ GH280#R:
HL3302260400 | N—%FZAC (F—XA1vF) 1| v%- GA300IE#RH:
72 | HL7396045000 | Fa—r A ¥ — 1
73 | HL6299000070 | I>ARwZAN—Z CK30 3
74 | NALO vk 4 232 M10 4
75 | WSAL0 INFHHZ 337 M10 4
76 | WRALO ESYHEX M10 4
77 | BA08025 PV 4. 6 M8X25 1
78 | BZ08025 FIVE 8. 8 M8X25 4
79 | BA08020 AV 4. 6 M8X20 4
80 | WSA08 NEPHZ 307 M8 4
' 81 | WRAOS ESYHER M8 4
82 | BA08D12 AL 4. 6 M8X12 2
83 | WSA08 NEFHHZ 337 M8 2
84 | HL6396550000 |75>7 2
85 | HL0012220300 | Rk (XTYRR) 9
86 | BA08025 BRIV 4. 6 M8X25 1
87 | WRAOS ES¥HE M8

17




u
it
u|
4
=
3
I
Ji

J 00
ISPy -{aE '

18-



JRB0800 HEA-INR-5
IVPy -{GE
GER | MR B S w s & W %k i =
88 | HL3302220300 | ~JLhAHT (HFawF) 1| M¥ GM3013&#RkE
HL3302220700 | NV hAH T (BFawF) 1| 785 GH2803E#k:
HL3302221200 | X)LV RAVIT (HEzvF) 1| ¥07- GA300IE#RES

89 | WSA0S NEFFHEZ 307 M8 1

90 | NAOS Fwvhk 4 222 M8 1

91 | HL1208020100 | % (ONwFU—) 2

92 | HL1208163400 | 4 ONwFU—) 1

93 | HL8086392000 | ><FT A 1

94 | NAOG >wvh 4 232 M6 4

95 | HL2018020200 | H/N— OUNw5F1U—) 1

96 | HL1208169000 | /N\w5YJ— 28A19R 1

97 | HL6066070000 |UH*R (¢16Xdp7Xt 1. 6) 2

98 | HL3308060100 | /NwFU—ad—R (=) 1

99 | HL3308060000 | /)NwFU—a—R (+) 1

100 | BA08O16 MR 4. 6 M8X16 2 | MEGM301, YI¥-GA300#E HEAS
101 | WSA08 INFYHZ 307 M8 2 "
102 | WRAOS ESYHR M8 2 "
103 | HL3302220500 | XA5— (R T7I—) 1 "
104 | NAOS Fvybh 4 22 M8 2 | M% GM301igdRm:
105 | WSAO8 INNFFHEZ 307 M8 2 "
106 | HL0612260300 | UFIr 25A3Y 1 "
107 | HL3302220400 |~<75— (A4/4+ GM301) 1 n
108 | HL3302221300 | <X 75— (¥v><%— GA300) 1| ¥U7- GA300HE#E
109 [ BA08025 AV 4. 6 M8X25 2 "
110 | 'WSA08 NFYH* 307 M8 2 "
111 | NAO8 Fvbh 4 232 M8 2 "
112 | HL3302220800 | L —bh (Z%R%¥ GH280) 1 | 7% 5 GH280¥E#kRE
113 | WSA08 INNZHPFHR 3T M8 1 n
114 RIVh 4. 6 M8X16 1 "

BA08O16

19




JRB080O
BR{E

BEO—IR—5

20




JRB0800 HEQA—-IR~-5
BE
g | R B/ B W % % B fi#
1 | HL3306020100 | v 7 b (L)N—352) 1
2 | NAC14150 Fvbh 4 332 M14XP1. 5 2
3 | HL2385201260 |NwZ5>TAAvF BLS51A AtwY »no 2
4 | HL3306021300 | V& B (FL—F) 1
5 | DE012 EHYRAT 12 1
6 | HL6062105000 | ZTSU> 4 1
7 | HL6886070100 | U1¥— (FL—F) 1
8 | HL3306021200 [ mOw R (FL—F) 1
9 | HL0031199006 | XA hw/X—VFIYNEL ¢ 63 2
10 | HL0143100850 | IE&VHRIE M8X50 1
11 | NAOS Fvbh 4 232 M8 1
12 | HL3306021100 | U ZA (FL—%F) 1
13 | PS050025W ATV TEY FT)hay 5X25 1
14 | PS030025W ATYTEY FT)IY 3X25 1
15 | HL6066080000 | ES7H<F> 6X19 (15) 4
16 | HL1050010012 | ZVUw> 123 o 9
17 | HL3306020200 | L)N— (B Ky S5wvF IF) 1
18 | HL3306020300 | L/)N— (FA RZSwF EF)) 1
19 | HL6066080000 | S 7H<E> ¢6X19 (15) 4
20 | HL0031199006 | A hw/X—WEIYNE> 63T 2
21 | HL3306060000 | 74 Y— (1 RKZSvF) 2
22 | HL3306060400 |ZVUw” ¢103dv FAO 1
23 | HL3306020600 | L/N— (Vtyary) 1
24 - | HL0143100850 | A& VHR) Kk M8X50 2
25 | NAOS . Fvh 4 232 M8 2
26 | BA06050 PN 4. 6 M6X50 1
27 | NNFO6 TS5V F40>Fy R M6 1
28 | HL3306020700 | 7—24 (VO L N—3I52) 1
29 | HL1706021400 | BS5— (L)N—y ) 2
30 | PS050025W" ATYTEY FT)NIAY 5X25 1
31 | PS030025¥ ATVTEY FT)EIY 3X25 1
32 | HL3306020400 | YOy ZA (A7) 1
33 | HL3306020500 | Vo awyU>ZB (2w Y) 1
34 | HL2737220010 | A YV AHA ’ 2
35 | HL0031199006 | A Rw/S—YFEIUNET ¢ 63T 2
36 | HL6062105000 | A7V >4 2
37 | HL7252221000 | RSU T hrhFs 2
38 | NAOS Fvbh 4 232 M8 2
39 | HL6066530100 | #>/\Nw ol 2
40 | HL43304020100 | Ow RA (7Y) 2
41 | HL0031199006 | AR w/S—VFIIUNE>Y 63T 2
42 | HL6066080000 [ ES7HTE ¢6X19 (15) 2
43 | HL1050010012° | ZUw> 1237 o 1
44 | HL3306021800 | L)N— (F¥w 7w 1
45 | BA10055 AIE 4. 6 M10X55 1
46 | NNF10 . 75040 Fy k. M10 1
47 - | HL3306021700 | U7 (Ewr 7w 1
48 | DEO12 EH¥RAXT 12 ' 1
49 | HL4002522000 | ES7H<ES ¢8X20 (16) 2
50 | HL0031199008 | A R w/S—VFITUNEY ¢ 83 )
51 | HL3306060200 | 71 Vv— (¥vr7v7) 1
52 | HL3304020800 | 5> a>7—AA (VTaTFAJY) 1
53 | HL3304020900 | > 3>7—AB (Ywawawyy) 1
54 | HL062104000 AT Y 2
55 | HL066110000 FriarJ—J— 55T 14R>IY 2

21




JRB080O
BR{E

BEO-IR-5

29




JRB0S8O0O BEO—-IR—5

#E

MEE | XM B R B & & Bk fi
56 | HL6066070000 | HR (¢ 16Xp7Xt 1. 6) 2
57 | WS06 - NFYHR 20% M6 2
58 | BA06014 AL 4. 6 M6X14 )
59 | HL3304021000 | v 7 b: (Uamsal) 1
60 | DE012 - EAZ R AT 12 _ )
61 | HL0031199006 | AR w/S—WEIIUNEL ¢ 63TV 2
62 | WRAOG ESYHE M6 2
63 | HL6062104000 | AFYU> Y 2
64 | HL3300121100 | 7S4 v b (RTVU a4 4) 1
65 | HL6396550000 |ZS5>7 1
66 | HL6012263000 | R7UZ RNUWHEHFY 1
67 | HL6062104000 | A7 U . 1
68 | HL6066080000 | ES7HEL ¢6X19 (15) 1
69 | HL0031199006 | AR w/X—YFIUNEL ¢ 63 : 1
70 | HLML40-0029 Vg —kFa—7 COT—-7—-PP L=100 1
71 | HL3308020000 | 754w b (XA wF) 1
72 | BA0S020 FIVE 4. 6 M8X20 1
73 | WRAOS ESYHER M8 1
74 | WsA08 NFTFHZ 307 M8 1
75 | NAOS Fvh 4 23z M8 1

76 | HL3306021400 |V ¥ (HFawF) . 1
77 | HL0031193006 | R hw/X—VFITUYNEL ¢63V 1
78 | HL2737220010 | w1 Y H4Y 1
79 | HL6152105000 | RFYU Y 1
80 | HL3306060100 | 71 V— (HF¥a¥) 1
81 -| HL1050011010 | ZUw> ¢103% T7h 1
82 | HL3306021500 | L/N— (HFaw) 1
83 | BA06050 FILE 4. 6 M6X50 1
84 | NNFO6 TS50 7500F10>Fvh M6 1
85 | HL1706021300 | 7—24 (UL NN—52) 1
86 | HL1706021400 | HS5— (LN—vwaw) 2
87 | HL0315260000 | ZUv>” ¢ 83 sn 1
88 | HL3304020300 | LN— (&L7W) 1
89 | HL6066080000 |ESFHYEL ¢$66X19 (15) 2
90 | HL0031199006 | AR w/S—VEIUYNEL ¢ 63TV 2
91 | HL3304020200 | ow KB (A7) : 1
92 | NAOS Fwvh 4 232 M8 1
93 | HL6066530100 | &> Nw& ) 1
94 | NAOSL Fvbh 4 232 L M8 1
95 | HL3304020100 |[Ow KA (Z7Y) 1
96 | HL3304020000 | ¥—A (L7 VRZT ) 1
97 | BA10016 A 4. 6 M10X16 1
98 | WSAL0 NFRYHZ 307 M10 1
99 | BA10016 AV 4. 6 M10X16 1
100 | WSA10 | N FHE 3TY M10 . 1
101 | HL7082200000 |HUH% (630Xdp11Xt 3. 2) 1
102 | HL0804020700 | 7w 7/—1— : - 1
103 | HL3304060000 |2.7YHR>7 PPH1. 7TAAO0. 5L—-216Q 1
104 | BA08020 AR 4. 6 M8X20 - 4
105 | WSAO8 NRYFHZ 3d% M8 4
106 | WRAOS ESYHR M8 4
107 | BAI08045 A 4. 6 ¥> M8X45 1
108 | WSA08 NEPFHRZ 3I% M8 1
109 | NAOS Fvhk 4 232 M8 1
110 | HL3304021600 | 57> a>7—Ah (HF¥FawF) 1

23




JRB0O800 HEA-INR-3
B | :




JRB0S8O0O BEO-IR-5
BE
| figs | BB BES B R 4% R &%k fid

111 HL7046110000 T A >J—Y— 55T 23&k>awy 1
112 HL6066070000 YHE (b16XP7Xt1. 6) 1
113 WS06 A NNRYHR 207 M6 1
1147 | BAO6O14 Fﬁllxl\ 4. 6 M6X14 1
115 | DEO12 ENYRAT 12 1
116 HL6062104000 AT 5 1
117 WRAO6 EoTHRE M6 1
118 HL0031199006 1

ARyNR—UFIIYNEY 63

25




JRB080O BEO—-IR—-F

e | R EE I fE%k fid &
1| 1199380004 Ja>h7Lb—A 1
2 | 0793812004 ERy b1 1
3 10793823004 NG 2
4 | 079383100M HF— 3
5 | BZ12030 AN 8. 8 M12X30 3
6 | BZ12050 B 8. 8 M12X50 3
7 | NZ12 Fvyh 8 232 M12 6
8 . | WSA12 NZPHE 3J7 M12 6
9 | ONB6 JY)—ZX=Zv7)y B M6 2
10 | 063467000M Tyiy;:12. 5X3. 2 2
11 | 1199740004 F—kCP ’ 1
12 | 079385000M AN 2
13 | 0550320000 BRIV 8. 8 M8X15 4
14 | NSPOS AAZZATI Ty s 4 M8 4
15 | 1201270006 <—h—ow R 1
16 | 042783600M Tvivy; 12 . 1
17 | WCRIL12 YINZTHR 13251 M12 3
18 [ NNF12 TI520F4 0 Fyh M12 1
19 | 1201430000 I5— 1
20 | 1201730004 AF—CP 1
21 | BSZ08020 aIHZRIVE 7 M8X20 2
22 | NSZ08 {1 aHFFvEs 8 2¥a MS 2 -
23 | WSAO8 NEZFHE 307 M8 2
24 1201930003 | 75Hw b 1
25 | CP03010 +FRIRY M3X10 2

26



an

JRBO80O

BEO-IIR-5

g || K& EE - - RS fid #

26 | WRAD3 ESTHR M3 2

27 | WS03 NRYHE 209 M3 2

28 | NAO3 Jubh 4 232 M3 2

29 BZ12035 HMIE 8. 8 M12X35 4

30 | 042783600M Ty ;12 8

31 NZ12 Fwvbh 8 232 M12 4

32 WSA12 N2YEHR 307 M12 4

40 1199360000 HAITFASSY 1 ® 41-52#8 FSal
41 0967020000 AT 5 1 7T a
42 CP03010 +FRORY M3X10 2 F7ya
43 | WRAO3 ESYHE M3 2 7 ar
44 | WS03 NEFFHE 207 M3 2 7 a
45 NAO3 Fwvbh 4 2332 M3 2 FTa
46 | 045998000M gy 2 FTSa
47 | 0640140000 Fr— 1 A7 a
48 | 120195000M TTN 1 F7var
49 BZ06025 RIVE 8. 8 M6X25 1 FT7a
50 | WRAO6 ESYHR M6 1 7 ar
51 W¥S06 NRYHER 2097 M6 1 F7a
52 NZ06 Jvhk 8 2z M6 1 F7a

27




JRB0S80O BEO—IR—5
ElE=A S '

O—VER (1) H51

MEE | XERBE G I < D %k 1
1 1199850004 VZ7—-U;B2-311 1
A 1199860004 ¥Y7hCP; 9T I
3 | 040608401M vy ; 13X4. 5 1
4 | 085137000M Twyoy; 13X3. 2 1
o | NI12 vk 8 232 M12 2
6 | WSAI2 NEYHR 3dU M12 2
1 JCS205LLU =y k3URFYS CS205LLU 1
8 1 0565149300M NAT 52T 2
9 | 055474000M ATZFF)VE 8. 8 M8X20 3

10 | NSPO8 IAZATITFy s 4 M8 3:

11 | JCS204LLU Iy haIUNXFYST CS204LLU. 1

12 JPFL204G NT7522 kY PFL204 2

13 | BZ03020 BAIE 8.8 M8X20, 2

14 | NSPO8 IHZATIVTFy s 4 M8 A

15 119989000M Trvar7—AMLCP o1

16 | 081267000M Trvarao—5CP 1

17 | BSZ08025 JIHEHRIE 7 M8X25 2

18 | 044097200M vy ;8 2

19 | NSPO8 AFYATITFy s 4 M8 2

20 | DCO17 CHYRRAT 25 17 1

21 1199920004 A7045yh;50-40T 1

22 | LA5S0054 O—7Fx—>2 50X54L 1

23 120110000M T=UFAYICP; A 1

24 120113000M J—UAHYLCP ;B 1.

25 | BSZ08030 IHEHBINE 7 M8X30 2

28



JRB0O80O
E¥EAS

BEO-IR-5

A-LER (1) ®E1

g | B W B S fE%k 18
26 | 080414100M Jyy ;8 2
27 | 120074000M AZE ) 1
28 | BSZ08025 J/&BE 7 M8X25 2
29 | 080414100M JyTy ;8 2
30 | NSZ08 J7%rvh 8 22 M8 4
31 | WSA08 NEPFHF 337 M8 4
32 | KFD08070200 ANTIAUF— Javkdy 8X7X20 1
33 | AAOS0 YFF 50 ‘ 1

29




JRB080O
Oo—)UEEg (1

)Eﬁn—»&-i

EE | R B E wO®m & W [EES i
1| 1199930004 75y hO—5CP 1
2 | 1199980004 A707whk;50—22T 1
3| 119999000M 55— 1
4 | 094796000 75T CP 1
5 | 043224101M TSP 2
6 | JCS206LLU =y h3IAURFTUS CS206LLU 1
7 | NN16 FM1ourFyb M16 1
8 | 0590442006 FARIT Ty % 1
9 | 0815250000 TwialURyh; 6X6 2
10 | BZ10025 ALK 8.8 M10X25 3
11 | WSAl10 NFYHEZ 3d% M10 3
12 | 120000000M TL—k 1
13 | 120001000M HS5—;26%X49. 5 1
14 | 081235000M J75YCP - ]
15 | 055149300M NTTSD 2
16 | JCS205LLU Zy hIURFYLY CS205LLU 1
17 .| BSPZ08025 IHZSWYFRIE 7 M8X25 3
18 | 040608401M Twivy;13X4. 5 1
19 | NZ12 Fwh 8 2¥a2 M12 1
20 | WSA12 NEZHHZ 307 M12 1
21 | 000450000M ATFRRIE 8. 8 M10X20 3
22 | NZ10 Fvhk 8 232 M10 3
23 | WSALO NEZHHZ 337 M10 3
24 | 0851321004 o—)LCP; 1 5
25 | 0851341004 O—)LCP; 2 1

30




JRB0800 HEO-IR—-S5
n—J)VEEE (1)

s | MEBEE B & & fE% | {& x
26 0851351004 o—J)VCP; 3 : 2
27 079507100M T772VCP 8
28 081235000M 752YCP : 8
29 055149300M INA TSP 14
30 JCS205LLU dZwhagXR7U>S7 CS205LLU 16
31 BSPZ08020 aHZSWYFRIE 7 M8X20 - 42
32 0815250000 TwialRy bk 6X86 . 14
33 | DC025 CHH¥ AT U 25 8
34 0793461004 NI : : 1
35 0793472004 NI ’ 1
36 BSPZ08030 aHFZSWYFHRIVE 7 M8X30 6
37 079324300M 270w h; 22T : 11
38 0793262004 Ho5— A, 8
39 040608401M Ty ;13X4. 5 8
40 NZ12 Fwvh 8 2 a M12 8
41 | WSAI2 NFRYHR 3d7 M12 8

31



JRB0O8O0O
O—J)VERE  (2)

BEO—-IR—-5

B—JLEEE (1) §%1

L 0]

R | MR EE % m % B fi&
1 [ 120003000 733 7—ACP 1
2 | 120117000M F>33>F7—ALCP 1
3 | 081741000 F5>3a>7—ALCP ;B 1
4 1079334000M Tuiy;21X1. 6 2
5 | PC032032 JUE> 3. 2X32 2
6 [ 081742000 0 |ow R 2
7 | 085350000M ATV Y 2
8 | 085351000M H5— 2
9 [ WRALO ESYHR M10 2
10 | PC032016 TJUE> 3. 2X16 2
11 | NNF10 I52TF 4 0>Fv R M10 2
12 | 088881000 | ZTFU - 1
13 | 080103100 AN M8 1
14 [ NSZ08 a4y Fyh 8 23a M8 2
15 [ 0812670008 5>33>0—3CP ‘ 4
16 | DCo17 CHERAT D 17 4
17 -] 105041000 F>33>0—5CP 1
18 | DCo12 CHFRNAT & 12 1
19 [ 0793312008 FryarTL—h 1
20 | 0440972008 Twiv; 8 2
21 | BSPZ08025 aHESWYFRILE 7 M8X25 2
22 | LA50110 O—5Fx—> 50X110L 1
23 | LA50042 O—5Fr—> 50X42L 1
24 | LA50126 lO—5Fx—> 50X126L 1
25 | AAO50 YEF 50 3

32




JRBO800 HEA—-IR—F
‘B—-VRE  (2)

n'—;bkﬂiﬁ_ (1) 51

L o]

|
W R E S T | K & Z
26 J6005LLU R—=RFUY 6005LLU 1

27 | DHC047 CHY AT FF 47 1

33



JRB0O8O0OO
aAryN\7y

BEO—-IR—-5

55
g | B HRBFE wo® & W {E% 1§
1 |1200120004 aASRTNAT 42
2 | 1200130004 AR NATCP 6
3| 1200150004 N EVFFz—2 Fv hUF 2
4 | BZ06016 RV 8. 8 M6X16 96
5 | WS06 INFYH R 209 M6 96
6 | 1200160004 DA 1
7 | 1200170004 A7y k; 19T 2
8 [ 1200180004 T¥7hk;R 1
9 [ 1200190004 A7045 v k; 19T 2
10 | KFD08070200 ANTITF— Javks 8§XT7X20 4
11 | JCS205LLU I=w haAUNFYSY CS205LLU 4
12 | 1200200004 RZACP 1
13 | 000450000M AZFRIE 8. 8 M10X20 3
14 | NSZ10 aIHF¥Fvh 8 232 M10 3
15 | WSA10 NFYHER 347 M10 3
16 | 055149300M NLTS5Y 2
17 | 055474000M AZFRIE 8. 8 M8X20 3
18 | NSZ08 aHy¥Fwk 8 2va M8 3
19 | WSA0S NEFYHZ 307 M8 3
20 | 079324300 A7O%yk; 22T 1
21 | 120023000 HS5—:¢026X29. 5 1
22 | LA50062 O—5Fxz—> 50X62L 1
23 | NZ14 Fvybh 8 2v2 M14 2
24 | WSAl4 NFZYH* 3dY M14 2
25 | 026970100M Tuiy; 14 2

34




JRB080O
AT

BEO—IR-5

AR | HB M E S

B & % R

=
b

26 | 1200240004 ¥4 K7L —KCP; L 1
27 | 1200270004 Y14 K7L —FCP ;R 1
28 | 1200290004 HA RR—ZXCP 1
29 | 120031000M 7L—k 4
30 | BSPZ08016 OHZSWYFRILE 7 M8X16 8
31 | BSPZ08025 JAZSWYFRILE 7 M8X25 8
32 | 080414100M Twiy ;8 ' 8
33 | BSPZ08020 OFFZSWYFERILE 7 M8X20 2
34 | BSZ08050 aHAYRIVE 7 M8X50 2
35 | WSA08 NRYHZ 307 M8 2
36 | 056311000M H5— 2
37 | BSZ08045 aHIFIVE 7T M8X45 2
38 | WRAOS oY Hx M8 2
39 | NSZ08 aHyFvh 8 232 M8 4
40 | 12032000M 7L—k 2
41 | 12033000M H5—:11. 56X15. 5 4
42 | BI10040 H5Fryw 7B 10. 9 M10X40 4
43 | NSZ10 aHyFwvhk 8 23a M10 4
44 | WSA10 NFFHZ 3d7 M10 4
45 | 075290100M Ty ; 11X4. 5X30 2
46 | 120034000M F>¥a>7—ALCP R 1
47 | 120037000M Frar7—ALCP; L 1
48 | 081267000M F>a>no—35CP 2
49 | DCO1T CHFZW AT 27 17 2
50 | Nz14 Fvh 8 2¥a M14 2
51 | WSAl4 NEPHZ 3d9 M14 2
52 | 026970100M Tyiy 14 2
53 | 079422000M T4#—ZT2R;10X40 )
54 | 079423000M F>2:;10X40 2
55 | BX110130 FIE 10. 9 ¥ M10X130 )
56 | 0162023010 OwF>r X705 H 2
57 | 075290100M Jwiy :11X4. 5X30 2
58 | NSZ10 aHyFwvh 8 22 M10 6
59 | 1204370000 wEF 2050 FvhvF 2

30




JRBO8O0O

Eﬁd—»&—i

(1)

Evory7/

J i BB e w & & W e 1§
1 | 1200760004 ¥wr 7y 77 —LCP 1
2 | 1200670004 Y14 KSL—-KCP ;R 1
3 | 1200720004 P14 K7L —KCP; L 1
4 | 1201280004 A 1
5 | BSPZ08020 AT SWYFHRIVE 7 M8X20 10
6 | 0591440000 JaXw b 2
7 | 120065000M HS5—:26X13. 5 1
8. | 055149300 © | NATFD 2
9 | JCS205LLU Iy baAUXRFYLY CS205LLU 1
10 | BSZ08025 IAFRIE 7 M8X25 3
11 | WSA08 NEFTHEZ 30 M8 3
12 | NSZ08 JfA&¥Fyk 8 232 MS 3
13| 120066000M RA ' 1
14 | 085222100 O—%75via 11
15 | BSPZ08020 AT SWYFRILE 7 M8X20 44
16 | 0852233004 F1N—CP 4
17 | 0852240006 g4 24
18 | BSPZ08050 JAZRIE 7 M8X50 24
19 | NNF08 750V F40>Fy h M8 24
20 | 0792823004 JaUN 1
21 | BJ08020 YIFvw 7B 10. 9 M8X20 4
22 | WSA08 NFTHEZ 307 M8 4
23 | NSz08 aly¥Fvhk 8 23 a M8 4
24 | JSBX0126LLU Iy hEAIRTY S SBXO0126LLU 4
25 | DCO12 CHIZW AT 24 12 4

36




Vi

JRB0O0S8O0O
Evsry7 (1)

BEO—-IR-5

s | B R E S B & & W &% i
26 | 0852250000 ¥ 7h 1
27 [ 057788100M N o1
28 | PC050036 JYE 5X36 1
29 | 1032960004 Y147V —KCP 2
30 | BSZ10070 IAZFIVE 7T M10X70 2
31 | 044098500M Ty v ;10 2
32 | NNF10 7oV uryh M10 2
33 | 0640350000 FAa>Tya -8
34 | 065487000M A 35X1. 2 12
35 | 1032990000 vy ;43X3. 2 8
36 | PC0O50056 JUE¥> 5X56 8
37 | 094889200M JL—hk 1
38 | BSZ08012 IFEZBFNE 7 M8X12 2
39 | WSA08 NEYPHE 33U M8 2
40 | 0852270004 0y FHAN—-CP 1
41 | 0822400004 AH—KCP; R 1
42 | 0822420004 AA—KCP; L 1
43 | 060807100M Ty 2
44 | 000088100M N—FE; 19X3 2
45 | 0442890000 =FVJ ;M8 4
46 | 072968100M Tyrx; 14 1
47 | WSA14 NRYHR 3dU M14 1
43 | NI14 1

JTvyh 8 232 M14

37




JRB0O80O

BEO—IIR—-F

Evoryv7 (2)

g | R B S g & & W E% i
1 | JPF2066 NAT75>2 <) PF206 2
2 | JCS206LLU la=vrawxR7y>% CS206LLU 1
3 | BSZ10020 JARIE 7T M10X20 3
4 | WSA10 NFPHE 3dY M10 3
5 | 079299100 V7= ;4. 5” 1
6 | 079300100M V7—Y ; 8” 1
7 | VRB040 V~RJ)Lh B—40 LvBR 1
8 | 085801200 AyAdyrFyhk ;M20X1 1
9 | 079297300 F>3a3>CP 1
10 | 000034100M SBT3 1
11 | 061847000M TyvPy 17X1. 6 1
12 | PC06262 | TUE¥> 8. 2x32 1
13 | DCO12 CHERMAT 2 12 1
14 10793020008 | 27027 :H 1
15 | BA108070 | Rk 4. 6 > M8X70 1
16 | WRAOS EIPFHR M8 1
17 | 079301100 | b5 I
18 | 0792843004 Ewr 7y 7THhIN— 1
19 | 0006900000 —Fy ; M8X14 3
20 | 0591440000 JOAwy bk 1
21 | JPFL204G N175>Y v PFL204 3
22 | JCS204LLU I=y RaUXRTULY CS204LLU 2
23 | 085226100M 759 : 1
24 | BSPZ08025 JIHZSWYFRILE 7 M8X25 )

25 | BSPZ18020 JHZSWYFRILE 7 M8X20 2

338




JRB080O BEOQ-ILIR—-5
Evo7vy7 (2) .

e | M@ ES woWm B W {E% i =
26 085137000M vy ; 13X3. 2 1
27 WSA12 NFYTHR 3T M12 1
28 NZ12 Fvh 8 23a M12 1
29 0793033004 A7—CP; R 1
30 0793053004 AT—CP; L 1
31 0793064004 7o 1
32 000085200M R—FZE>;8X1. 6 2
33 055032000M AZFHBIVE 8. 8 M8X15 4
34 | NSP08 AHIRATI vk 4 M8 4

39



JRB080O BEO—INR—-5F

EvyoUZ b snyFThi—

BB ES ' - - fE% 1&
120054000 Oy RCP '
WRA10 ESYAR M10
PC032020 JUEX 8. 2X20

120047000 7—ALCP ; R

120045000M 7—ALCP; L

0999180000 HARTY 2T ;560Keg f

WRA10 ES¥H% M10

PC032020 JUEY 3. 2X20
1200530000 | v 7 ~

BSZ08045 JHSFIE 7 M8X45
NNFOS 7523940 Fu Rk M8
BSZ08040 aOHFFIVE 7 M8X40
NSZ08 IH¥Fv R 8 231 M8

1200610004 o0y THIN—CP

120040000M 780y THN-ZXF7—CP ; R

120041000M 280y FHN-AF—CP ; L
060807100 Tyiv .

0000883100M N=FE;19X3

BS710040 JAYR)VE 7 M10X40
BS708040 JAFFRIE 7T M8X40
NSZ08 aH¥Fyh 8 2¥a M8

078928000M AL

120055000M ¥2CP

000739000M UFEZ; 9

co|rofro|rolro|ro| e a e = = = = _%
muswwn—ogooo_\,mm%wm_otooo-\)oaw,pwm

NSZ10 aHYFyh 8 2¥a M10

Bl - R N N O NGRS R R Bl [ N I ACR G IS P O S SR B I I VNG O )

40




JRB08O0OO BEAQ—-IR-5
=RV D72/ 4 .

PR BRES I < D

B
P
=F
I

105412000 755y RCP

079364300M LIN—CP.

079334000 Twivy; 21X1. 6
PC032032 JUE¥> 3. 2X32
BSZ10040 BRI 7 M10X40
NSZ10 aHFFyhk 8 232 M10
0793652004 T3y b

BSZ08075 aHZRIE 7 M8XT75
NNFO8 75> F10 Fvh M8

079366100M A7)V H

079368100M Ow R

079369000M JUJ—ZOw RCP

105411000M Oy RCP.

079371200M )25 CP

079372100M J> RO—=JLN\—CP

WRAOS ESTHX M8

WRA12 ESYAx M12

PC032016 JUE> 3. 2X16
BSZ08025 . | aAF®I L 7 M8X25
NSZ08 OG5 Fv R 8 232 M8

000085200M N—FE>; 8X1. 6

079424000M TJA—UIT2E; 8X32

079425000 El; 8X32

0793731008 A ZARE

079374100 Abw/N; L

Ll Bl KSR INGUH B IS o I SR S el IS A el Bl B I ST I I GG R SR [ SR SR NG B S R R R

ERC IO S SO B S . B B B Bl B el B I B e e
Uﬁ,{:.w;\gHo@oo_qmm,hmw_owoo-qc}m%wl\nu—a%

41



JRB08O0O
=L 72/ 4

HEQ—-IR—-5

32

i WHEES BwO& & B fiE
26 074132000M ATV 2. 3X18X68 2
21 079335100M HF— : 2
28 1149870000 ;910 5X0. 27 2
29 | BSZ10035 aF&ZHRIS 7 M10X35 2
30 | NSZ10 aHFFyh 8 2¥a M10 2
31 | WSA10 NFYHE 3097 M10 2
32 | 079375100M ATV H 1
33 063276000M HIVE;M10 1
34 { NSZ10 aHFFvhk 8 232 M10 2
35 | 079500100M TN 1
36 | BZ06020 ' A 8. 8 M6X20 ° 2
37 | NPO6 ATV T v M6 2
38 | WRAO6 | ESYHR M6 2

42




JRB0O8O0O

BEA—IR-5

NRAFa20 (1)

113%4- 5/

5 B A &

MR | A EBEE fE%k &
1 | 0812275004 NA T4 2 R—=ACP ; 1 1
2 | BSZ0820 aHFRIVE 7T M8X20 6
4 | 079471200 v FCP 1
5 | 079472100M 275w FIN—CP 1

- 6 | WRAL2 ESYHR M12 2
7 | PCO32016 JUE¥> 3. 2X16 2
8 | NSZ08 aH¥Fw bk 8 232 M8 7
9 | WSAOS NFRFHZ 337 M8 6

‘10 | BSPZ08020 IHZSWYFRILE 7 M8X20 4
11 | 0809760004 7—A ' 1
14 | 0812220004 H5— 1
17 | JHF2520 J>UxA7IvF HF2520 1
18 | J6005LLU AR—=IR7Y>Z 6005LLU 2
19 | DCO25 CHZ AT P77 25 1
23 | TRK08020 6hXXY 10. 9 ZHKI M8X20 1
24 | 0807851000 R e 1
25 | 077412000 AT 2
26 | 079495000 FryarTb—hk 1
27 | 013290101M AT T 2
28 | BZ06050 AR 8. 8 M6X50 2
29 | 079496100 A4 Ro—)LCP 2
30 | BSZ08030 aHFRIIE 7T M8X30 9
31 | WRAOSG ESYHE M6 4
32 | NSPO8 aAHFRATI T FvE 4 M8 2
33 | 079469100M NIEII A 1

43




JRB0800 HEA—-IR-F
’Mr7F42Y (1)

11354- 5|

Bk | M E B S & & : % & Z
34 | 066672500M rIAHAR 1

35 | DCO20 - CHY b AT D5 20 1

36 | NNF06 TS5 F4 0ty h M6 2

37 | WRAO6 EIYHE M6 2

44



JRB0O80O

BEO-IR-5

NAT1220 (2)

MR | MR BB » B % A {E%k i
1 | 1200800004 NL>F 4> R—Z CP; 2 1
2 | BSZ08020 aHFRIE 7 M8X20 2
3 | NSPO8 IAHZATVTFy s 4 M8 2
4 | BSPZ08020 OAZSWYFHRILE 7 M8X20 2
5 | 079473300M ZwiaN—ACP 1
6 | 0794741000 Zwiardh 1
7 | 0794751008 @ | HS— 1
8 | 0794662008 55— 1
9 | BSZ08080 aHFZRILE 7 M8X80 1
10 | NSPO8 IAZATI Ty 4 M8 1
11 | WRAOS ESYHE M8 2
12 | 079483400 75> N—CP 1
13 | 0794844008 v 1
14 | ONAG FU—ZXZw 7 A M6 2
15 | WRAOG ESYHE M6 2
16 | PS060036 AT 6X36 1
17 | DCO15 CHERAD 27 15 1
18 | 061847000M Twixr17X1. 6 1
19 | 120085000 7—LCP ; 1 1
20 | 080102700M 7 —LHR—KCP 1
21 | 120090000 7—ALCP ; 2 1
22 | 0774093000 Tyvia 5
23 | 1200940008 ATV Y 1
24 | 1200950008 7—ALCP: 3 1
25 | 079659100 T T )N% 3

45




JJRB0O080O BEO—IIR—-5
I Ta2 Y (2)

g | & BB wOBm A fE% i %

26 | NSZ08 aFFFvk 8 232 M8

27 | 061847000M Tyl 17X1. 6

28 | PS050032 ATV HEY 5X32

29 | 044097200M Jysy ;8

30 | BSPZ08020 IHZSWYFRIE 7 M8X20 '
31 | ONB6 JY—2ZZwy 7)) B M6 N
32 | ONAG JU—Z2Zw T A M6

33 | PS060036 AFUFTES 6X36

34 | 080893000M A7V Y; H

35 | 0794892006 ATV 3 H

36 | 080103100M AV M8 -
37 | NSZ08 J5%Fvh 8 2¥a M8
38 | 120098000M Tovar7L—hCP

39 | 077377100M ATV A '

40 [ 079496100M A4 Bo—)LCP

bt |k | et | et | ek | put | ek fopad | ot | ped | OIND | bt | bt | DD | bt |t | bt | bt | gt |t S| | et | et ) DD

41 | WRAO8 EIYHE M6

42 | DE005 EH¥RAT 5

43 | 079497100M F1 77 —kCP

44 | 1020460000 F17

45 | NNFOS 7507 40 Fy b M8

46 | TPA03006 FREVEIRY A 3X6

47 | BSPZ08020 IHFSWYFHRILE 7 M8X20
48 | WRAOS ESYHE M8

49 10794981000 Ty ialdh

50 | 1200990000 a7l —k

46



JRB080O
NRAVT a2l

BHEA-IR—-5

(2)

NL T4 TR—-ZCP ;1

g | R EFE w & & W K {iE =
51 | BJ08030 H+5Fvrv 7B 10. 9 M8X30 )
52 | NNFOS 754> Fyk M8 3
53 | NNF06 752> F4a>Fyk M6 1
~~
61 | 080104300M 77 1
62 | BSPZ08020 aOHFSWYFRILE 7 M8X20 1
63 | 0801051000 A1 wF 1
64 | CP04030 4+FRIXY M4X30 2
65 | NPO4 A7V TFy ~ M4 2
66 | WRAO4 EIYHx M4 2
67 | 0853131000 r—J 1
68 | 0853490000 r—"T) 1
69 | 0853480000 TY— 1
70 | BZ06016 AL 8. 8 M6X16 2
71 | WRAOG EIYHE M6 2
72 | NPOG ATy bk M6 9
73 | 0801070000 r—=JNo57 1

47




JRB0O80O

BEO—IR-5

&y —-h/xX—

iR | BEmES % & W E% ]
1 | 1201640003 KA > HN—CP 1
2 | 1201660003 rT7A1 Y HIN—CP 1
3 | CP06012 +FARIAXY M6X12 2
4 | NP06 ATFUTFv b M6 2
5 | WRAOG EIYHE M6 2

6 | BSZ08020 JIAFRIVE 7 M8X20 4
7 | BSPZ08020 IHZSWYFRIVE 7 M8X20 4
8 [ NSPOS AFZATI >V Fvh 4 MS 4
9 [ WRAOS ESYHEx M8 8
10 | 106076100M A bhwis 1
11 | 079659100M FS5N\F 3
12 | BSZ08025 aAYRIE 7 M8X25 1
13 | NNFOS J500F (0 Fyh M8 1
14 | 1201690003 ry TAN—CP 1
15 | 1201450003 NA T4 T HN—CP 1
16 | 1201470003 NA T4 7)Y HIN— 1
17 - | BSPZ08020 I SWYFRIE 7 M8X20 8
18 | BSZ08020 aHZRIVE 7 M8X20 4
19 | NSPOS AHAIATIZFyvE 4 M8 4
20 | WRAOS ESHYHE M8 12
21 | CP06012 +FARIARXY M6X12 2
22 | NPO6 ATV TFy b M6 2
23 | WRAOG EIYHE M6 2
24 | 0796583000 =¥V ;50 2
25 | 079659100 HFNZ% 8

48

R



JRB080O
& —h/X—

HEAQ—INR—-5

EE | X mBE - B fi&
26 | WRAOS ESHPHER M8 4
27 | PS040016 ATUIHTEY 4X16 2
28 | 120170003 B IHN—CP 1

.29 | BZ06016 AL 8. 8 M6X16 4
30 | WS06 INFTHE 237 M6 4
31 | 1201720003 7 N— 1
32 | BSPZ08020 aAHZSWYEFRILE 7 M8X20 9
33 | WRAOS ESY % M8 9
50 | 1203360000 X)) o=y 2
51 | 1203490000 5~J)V; JRB080O 2
52 | 0008360000 STARRY—Z75X)L (30) ;40 o1
53 | 1174080000 START—=Z75X)V (F74) ;40 1
54 | 1064890000 IRV 5437 75 1
55 | 1065380000 - | SN)b;H41ary 124 1

49




e | KR ES B &R &R % ]
1 1201520003 O rAN—CP ; L 1
2 1201560003 - 782 AN—CP ; R 1
3 1201600003 7 —hHAN—CP ; L 1
4 1201620003 F—=bhAN—=CP ; R 1
o | BSPZ08020 dHZSWYERIE 7 M8X20 b
6 0796583000 =FVU;50 2
7 1079659100M TINR 3
8 | WRADS TEFTAR M8 10
9 | PS040016 ATUTEY 4X16 2
20 | 0008600000 DAY x—=LTL—h 1
21 | 1202380000 NV, Faut1l 1
22 | 1202390000 IN)V;, Fautvf2 1
23 | 1202400000 - FN), Faut13 1
24 | 1202410000 - IN); Favt14 1
25 | 1202420000 NV, Fauk1b 1
26 -| 1202430000 IR, Favut1 6 1
27 |-1203370000 GV  ARI1T1 1
28 ] 1203380000 I ANT1T2 1
29 | 1203490000 Z~NJV; JRB0O80O 2
30 | 0008360000 STARR—IIX)L (2O); 40 1
31 | 1064190000 N, r14as 38 1
32 | 1064850000 N1y 71 2
33 | 1064980000 1INV, 71430 84 2
34 | 1065370000 N 143y 123 1

50




JRB0O80O
a7

BEO—IR—5

EA

i R EE m & % fi&
1 | 0807820000 YT :20X35%X210 » 1
2 | 1034-04 R"—ALIVARIF PF1/4XPT1,/4 1
3 11006-04 R—AFAZRAR)N PF1/4XPT1,/4 1
4 10009280000 ARy TNNNT s 1/4 1
5 | KH0402500AP AFWEKR—A 1/4%X2500 1—4 1
6 | 0797980000 ZOAw 2
7 | ILT100 A>yanwr&¥4 2. 5X100 2
8 | ILT250 A>>abdy ¥4 4. 8X251 1
9 | 1033-04 F—ATIAR PF1/4XPT1/4 1
10 | 2088-04 AZXFAIIVIR PT1,/4 1
11 | 0005260000 I7—7)—H 1
12 | BZ16080 FILE 8. 8 M16X%X80 2
13 | NN16 FLarFy s M16 2

51




JRBO8O0O

Ax—LRvIR

BEO—-IR—5

25

[12595 |

\7
S5

& & &

iEm | KRB S fE% ]
1 1041580002 U —M 1
2 | D15358 A1) —)y D15358 1
3 | DHC35 CHZ AT T 35 2
4 J6202 R=IRTUT 6202 2
o | KRCA3507 =IFryT 83507 1
6 1041590000 Dz — LR 1—) 1
1 1041600002 v 7 b 1
8 16203 R=IRFU>S 6203 1
9 J6005LLU A=IR7UY 6205LLU 1
10 | D30507 AA)N—) D30507 1
11 | DHCAT CHF AT TF 37 B 1
12 | KFC05050250 [ ANTaDUF— VJavux)h 5X5X25 1
13 | 1041610004 Frv/ ‘ 1
14 | 1041620004 Tt —ILRy T X 1
15 | BI0616G AL 8. 8 M6X16 4
16 | 0000280000 Faatr;PF1/2 1
17 -1 0003280000 NyF2; 30 1
18 | ORGO6O OU>ry G-60 1
19 | WS06 NXHHR 207 M6 4

o2






%

S—990513A

& it
T

Bl s =R

EEEBEMm

R

EREEFM

R B R
Ty
Waesgm
N LB AR
% B
WA R PR
R
BEAEEFR

B EEMm

066-8555

066-8555

070-8004

(098-4100

080-2462

090-0001
086-1152
025-0312
985-08475
323-0158

480-0102

399-0033 .

700-0973

862-0939

885-0004

FTEHTEE®H LI OG6 1 FH 2
EL 0123-26-1123

- FAXO123-26-2412
TETLEEEHE 1 06 1 B 2
TEL 0123-22-5131
FAX0123-26-2035

BN HHELFZITHIHZSE
TELO166-61-6131

FAX 0O166-62-8985

REHEENFT EHuo~xy1191 FH
TEL O162-82-1932
FAX0O162-82-16896
HLEME2 %41 TEI2E #
TEL 0155-37-3080
FAXO155-37-5187

t B W 4 2 3 0 2
TEL 0157-24-3880
FAXO157-81-1344

BEAPIEEMIET2 THIOHE 2
TEL O1537-2-2624

FAX0O1537-3-2540

AFRIEEH _MEHE %333 -1
TEL O0198-26-5741
FAX 0198-26-5746

EREZERGAM2TE4FUS

TEL 022-367-4573
FAX022-367-4846

fAREB/LHR251 2 —1
TEL 0285-49-1500

FAX 0285-49-1560

TR PRSI K E & F A E 8191
' TEL 0587-93-6888

: FAX 0587—93~541 6

EHEMEAHAFEES824—5

. TEL 0263-26-5731 -

FAX0283-26-5761

FIWEFELUFETHRE 704 —-103

TEL 086-243-1147
FAX086-243-1269

R BRRATNESEEITHE2EL S
TEL 096-381-7222
FAX 096-384-3525

BRI T ILE 3537 —1

TEL 0986-38-1045
FAX0986-38-4644

05.

5S®



